[ 718ZSrEAIRA ]
2( 600 ) Al 3h( 610 ) LA MEE( 611 ) ABEQl (02 ) JHEESHETAER (G
e oarey | U= 2y
B3 oM -2 of 4 o

A 34,421,466 | 33,452,382 969,084
600 At 11,126,941 14,501,334 ~3,374,393
610 Y4 5,698,900| 5,710,900 A12,000
611 A=< 5,548,900 5,548,900 0
02 7H48skrTAER 1,608,018 1,608,018 0

0 SFETAREY 10,8609 x 12,3397 x 1274 = 1,608,018
06 UBHESSIPEARR 3,630,954| 3,630,954 0

0 SFEEAEEY 106,7309 x 2,835% x 1274#¢ = 3,630,954
08 CISHESITEAER 140,203 140,203 0

0 SFETAREY 1,298,180¢ x 9% x 1274¥ = 140,203
10 AUYSUBSIEAER 56,316 56,316 0

0 SFEEAREY 234,6509 x 203 x 1270 = 56,316
12 7EfSkrEEAEZ 113,409 113,409 0

0 SEEEARERSY 350,030 x 277 x 1274 = 113,409
661 7[EtIR 150,000 162,000 A12,000
03 7lEErsEsy 150,000 162,000 A12,000

0 Bz{2|AlM 2H2l4s 12,500,000 x 12& = 150,000
670 Y 5,428,041 8,790,434 | ~3,362,393
671 0|2t 70,000 70,000 0
01 OlIZ0jArY 70,000 70,000 0

o 0Iz0[2t & £ 70,000,000 = 70,000
672 ERARMYZS 5,344,041 8,706,814 | A3,362,773
02 EEEIARYUZ 5,344,041 5,431,600 87,559

O ZWMEEIA 3 5,344,041

o SAVIZAIY 23| 5,123,783,000 = 5,123,783

0 SHAVIZAIY 7IERITH| 220,258,000 = 220,258
03 UBEIARIAFZ 0 3275214 ~3,275214
679 7|EIELIFA 14,000 13,620 380
01 7|Elchse 1,800 1,800 0

o SR A= 1,800,000 = 1,800
04 HAZLdITY 2,200 1,820 380

o Hag ¢ 2,200,000 = 2,200
09 7IErYLIsY 10,000 10,000 0

o 7|El &= 10,000,000 = 10,000




[ 718ZSrEAIRA ]
2:( 100 ) Ak2Aae)  8h( 170 ) A=oim Mk 171) AEEEESY F(01) AERESSY (Chef @ A9
S o sy | AEE= ) 25
Z-gd-NY-F Off Ak oH
100 2t 23,294,525| 18,951,048| 4,343,477
170 2H2Yoiz4Y 19,036,300 17,953,358 1,082,942
171 AEREHE4Y 1,000,000 1,000,000 0
01 AEREEaY 1,000,000 1,000,000 0
0 S3otrE ARpREF 1,000,000,000 = 1,000,000
173 ERAHEEZRISY 18,036,300 16,953,358 1,082,942
01 =INERIZHY 7,208,600 9,843,000 ~2,634,400
O |nEzILY 7,208,600
0 (50{Z DIS3leE FH)R2S 4T Siet2 FHIAIY
658,000,000 = 658,000
o (oFr2|d EE)d2|dSotr2|Ad SHEARJA(1AD)
122,000,000 = 122,000
o (slrx2|d E2)MURIScrA2IAY SHEARI(AD
100,000,000 = 100,000
o (o2l &2)JBISTITH2 AL SHEARQRAN
100,000,000 = 100,000
o (Skrxe|d &2)HotSSsra{2|Ald SHEARI(1D
100,000,000 = 100,000
o (slrx2|d E2)AHSSsea2IAlY SHEARIEQAD
300,000,000 = 300,000
o (otr2|d &F)SYLFRISolrA2|Ad SHEAD(1A)
150,000,000 = 150,000
o (olrR2HH)EH ok AR-AUZ FHIAIY 1,516,000,000 = 1,516,000
o (o2 HH|) Y, 4o siet2 FHIAIY 1,703,000,000 = 1,703,000
o (otrR2EH))3H| AR SieTE FHIAY 1,044,000,000 = 1,044,000
o (olrR2HH)SH st ZHIAIE(2THA) 965,600,000 = 965,600
o (G2 EH|)IFES Stz HHIAY 128,000,000 = 128,000
0 (olrR2YH)YHEH ool ZHIAY 122,000,000 = 122,000
0 (SErR2YH)ZZTH o542 FHIAY 200,000,000 = 200,000
02 ERAHEEzRISY 10,425,800 6,585,100 3,840,700
O sHiARRY I (FAVMIEHSA) HAZ 4,619,587
o (olrR2YH)SH Mok AU FHIAIY 1,418,000,000 = 1,418,000
0 (5012 OFSslek EH) &85 A3 3skr2|AlY H2AY
876,400,000 = 876,400
o SHE7IZAIY O 1,994,787,000 = 1,994,787
0 TOC $REASZHUAER| M3 330,400,000 = 330,400
O Yurs|A MUz 5,806,213
o (otr22|d 23)d2|3SslrA2| A ESHAIE (12D 31,000,000 = 31,000
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o (Blrx{E|d E2) ARSI AESEAI(12D) 25,800,000 = 25,800
o (BlrAE|d E2)HHSSsIr2|AES A2 25,800,000 = 25,800
o (Blrx{E|d E2)HoAtS S5t AIESEAIRI(12D) 25,800,000 = 25,800
o (slrxe|d &= ﬂd%ét#iialklg%ékfﬂ(zir) 100,000,000 = 100,000
0 (slrx{2|d &5)EYL 2 ISt 2| AESHARK (12
50,000,000 = 50,000
o (clrR2EH)EH, o 222 FHAY 621,000,000 = 621,000
o (SlrH=ZH) MY, Hot stz GHIAKY 894,000,000 = 894,000
o (T2 EH)) 2| AR Stz HHIAY 234,000,000 = 234,000
0 (BHHURHH)EH SR ZHIARIQTHA) 983,000,000 = 983,000
o (G2 EH)IFES Stz HHIAY 184,000,000 = 184,000
0 (oFrRZYH)SH MM A ootz ZH|AL
800,000,000 = 800,000
0 (S22 YH)YYEH 35U 2 FHIAY 122,000,000 = 122,000
0 (SHErR2YHNZZTH o542 FHIAY 66,500,000 = 66,500
0 (SlrTZYH|) AT SR FHIAKY 1,000,000,000 = 1,000,000
0 BE7|ZAIE oM 643,313,000 = 643,313
03 AlZHERZSY 401,900 525,258|  A123,358
O Al=H[EZ2ZY 401,900
0 (5012 OFSslek FH)29 4T a2 FHAY
112,800,000 = 112,800
o (BlrxE|d E2)FelSSsrx2lAlY SEARI(AD 21,000,000 = 21,000
o (BlrxE|d 2RI SsIrA2IAY SHEARI(1AD 17,200,000 = 17,200
o (okrA2ld 23)PBISsIrM2 AL SHEARYQAN 17,200,000 = 17,200
o (oFrA2|d EE)HetESsIr2|Ad SHEARJA(1A) 17,200,000 = 17,200
o (BlrxE|d E2)AHSSsIeA2IAY SEARI AN
100,000,000 = 100,000
o (BlrAE|d E2)EF ARSI 2IAE SHARK(12
50,000,000 = 50,000
o (GIrHURYHNZTH =23tz HHAY 66,500,000 = 66,500
180 REARZ 4,258,225 997,690 3,260,535
181 &MAYNZ 4,258,225 997,690 3,260,535
01  &MAYc= 4,258,225 997,690 3,260,535
O &MAYoIZ 4,258,225,000 = 4,258,225




